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A 3
M J|IRHIUES 2c
Hel 2 2 28 € 2e (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 6,000 9,000 /3,000
O dstes 2 dHEHAIY 3,000
OX72tet SAE st BASE 2050 3,000
UL 2SN NI (LESE2ACA 102,700 124,000 A21,300
2)
Jl 102,700
207 ARl 102,700 124,000 221,300
) 102,700
01 H1ESHI 102,700 124,000 221,300
OEES2C| AHHE OB It 83,000
Il 83,000
OLgsgae e A2AE Z2LIEE 19,700
Jl 19,700
S22 MzZAE | 33,344 33,000 344
101 21AH| 8,344 0 8,344
04 JIZtN2Z2XNS 2+ 8,344 0 8,344
OFE=SHTAE M= & EHIHY A2Y
208,600 x5 x4 L x23] 8,344
201 er23 | 25,000 13,000 12,000
01 At2t2ltl 22,000 10,000 12,000
OFE=HZAE =ZZA 5,000
OSFE=NTAY =LEH St 17,000
02 S3=gHl 3,000 3,000 0
OFESHZAY &HIIes 3,000
2 Ul 2el 11,341,9% 12,436,269 A1,094,273
= 5,566,040
[ 50,000
Il 44,983
== 1,343,235
Al 4,337,738
WILS=3Y =24 N2 51,334 51,334 0
< 15,400
Al 35,934
201 er23 | 51,334 51,334 0
= 15,400
Al 35,934
2 35234l 51,334 51,334 0
OIILEEZY J=2el KAl
25,667,000 #2002 51,334
= 15,400
Al 35,934
SEINERYS 2 =+ 27,900 17,600 10,300
201 2= 27,900 17,600 10,300




M 23
M J|IRHIUES 2c
ol HE o1 22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 6,800 6,800 0
OdNERes 2388 AN HH
1,700,000 *43] 6,800
2 ZZ2H| 21,100 10,800 10,300
OBANERLYS 228 PHO3
2,700,000 *43] 10,800
OstBNeRe= €28 JNLX =3
300,000& 42 1,200
OZNEF G2 It I AL RXE+
]l 9,100
Jl=ggtiig =& 7,700 10,700 A3,000
201 fer= 3| 3,000 6,000 A3,000
01 AtR2tc|HI 3,000 6,000 23,000
ONEA SMST QSRS A
10,0003 »1007H*32] 3,000
202 04l 4,700 4,700
01 2LHoIH 4,700 4,700
OSdEd g8 Ol 4,700
=dlOIE Mel X 13,200 13,200
201 er2 3| 13,200 13,200
01 AtR2telHl 10,200 10,200
OsdI0OIE HMel XXt SRz
1,020,000« 10 10,200
02 s3=ghl 3,000 3,000 0
O=dIOIE HMel XNEXtE FFHl
300,000 *102 3,000
=cll0lE MelKI&A 1,524,240 1,598,680 AT4,440
= 762,120
Al 762,120
401 AIEHIX SO 1,524,240 1,598,680 NNT4,440
= 762,120
Al 762,120
01 AlZ2H| 1,521,192 1,595,483 AT4,291
O=2l0IE HMelAr 1,521,192
= 762,120
Al 759,072
03 Al 20HHI 3,048 3,197 A149
OsdI0IE MelAte 3,048
SR BIEIHA HZAHS 3,658,300 3,993,560 A335,260
= 1,909,400
[ 524,670
Al 1,224,230
301 LEIE NS 2,664,200 3,366,560 AT702,360
= 1,332,100




2N e

3 JI;—E@ S 2el
ol HE o1 22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 399,630
Al 932,470
14 IIEt2 8= 2,664,200 3,366,560 702,360
ORI HEIA M A (EIIHIX) 2,664,200
= 1,332,100
< 399,630
Al 932,470
402 QI2F X201 & 994,100 627,000 367,100
= 577,300
== 125,040
Al 291,760
02 QI IH2AILEE (01X THE) 994,100 627,000 367,100
OSHAST IEIIA HZAIL (&I
MB6HZEXI) 822,500
= 491,500
== 99,300
Al 231,700
ORYLRI IEIHA H2AAI (28X X
BoiEXI) 171,600
= 85,800
< 25,740
Al 60,060
HILSAHs=8L 24 12,000 12,000 0
201 er23 | 12,000 12,000
2 35234l 12,000 12,000
oYY NS EXY RV F(BH)
Al 6,000,000 +27H 2= 12,000
HII0IEX 2SAE 44,800 48,000 A3,200
= 22,400
Al 22,400
402 212+ X=201H 44,800 48,000 A3,200
= 22,400
Al 22,400
02 QI X2 AL EE (01X THE) 44,800 48,000 A3,200
O&II0IEXt F0H X
1,600,000 *28CH 44,800
= 22,400
Al 22,400
IHEE N=sA22d 2E5AHY 24,000 31,000 A7,000
2 14,400
= 2,880
Al 6.720
402 2I2F X201 & 24,000 31,000 A7,000
= 14,400




2A:

X XH -
o=

29: (Erel: a2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 2,880
Al 6.720
02 DIZHAFE A2 X (01 R TH ) 24,000 31,000 AT,000
ONHSHSARUR 2T
600,000 *40CH 24,000
= 14,400
< 2,880
Al 6,720
22 SHAEE SAAE X2 A 37,800 0 37,800
= 21,000
[ 5,040
Al 11,760
402 QI2F X201 & 37,800 0 37,800
= 21,000
== 5,040
Al 11,760
02 BIINEASEX(0IETHR) 37,800 0 37,800
OAAE SMAIEE SXAIE XA 37,800
= 21,000
= 5,040
Al 11,760
AFHMZAE EXIKE 252,700 212,400 40,300
[ 75,800
Al 176,900
402 QI2F X201 & 252,700 212,400 40,300
= 75,800
Al 176,900
02 QI X2 AL EE(0IETHE) 252,700 212,400 40,300
OAFUX(EHE) EXNALY
184,700,000 * 100 2 184,700
= 55,400
Al 129,300
OAF N DIM=H S KZA 8HA
8,500,000 +8JH 2 68,000
< 20,400
Al 47,600
ASI 2H et HSAAY A5 20,000 20,000 0
201 Ler=23 | 20,000 20,000
02 S3=4gl 20,000 20,000
OXNSAt 2dHe SEANAE FA24 20,000
OIMIEA Tis2tel 5,500 2,500 3,000
201 fer= 3| 5,500 2,500 3,000
01 AtR2t2|HI 5,500 2,500 3,000




2A:

X XH -
o=

29: (Erel: a2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUIMEZX g 822 M 2,000
OXJIHA EX3 & 20
3,500& *1,000CH 3,500
ODINIEX SHHE OIZ2Z Al X2 A 100,000 88,000 12,000
[ 50,000
Al 50,000
101 e124d| 94,000 88,000 6,000
= 47,000
Al 47,000
M ORINZZ2NSE S 94,000 88,000 6,000
ODINISXl SHHE LS AIA
©124H123,500,0003 x4 94,000
= 47,000
Al 47,000
201 fer= 3| 6,000 0 6,000
[ 3,000
Al 3,000
01 At22t2l] 4,000 0 4,000
OOBIMISHA SIS 0l 22 AtALS 4,000
= 2,000
Al 2,000
2 s5=34l 2,000 0 2,000
ODIAHIEHAl SHHE S AIA 2,000
= 1,000
Al 1,000
OIS 700 NR(S3) 370,600 0 370,600
= 88,600
Al 282,000
405 KHaHE SH 370,600 0 370,600
= 88,600
Al 282,000
01 AL =S F = 370,600 0 370,600
OHII=8X <200 X2 111,600
=t &tE 2 Xt 67,000
= 5,800
Al 61,200
A AAFLK | It 44,600
= 5,800
Al 38,800
OISRt 701 X
37,000,000 *7CH 259,000
= 77,000
Al 182,000




2A:

X XH -
o=

el EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HIIHA B3 At 140,000 0 140,000
= 70,000
== 21,000
Al 49,000
402 212 X201 & 140,000 0 140,000
= 70,000
=S 21,000
Al 49,000
02 RIINEASEZ(0IETHR) 140,000 0 140,000
O&IIHA 204 X
140,000,000 »1CH 140,000
= 70,000
S 21,000
Al 49,000
23012 3WEX ds=A2cl 4,840 6,280 1,440
= 2,420
= 726
Al 1,694
402 212+ X201 & 4,840 6,280 1,440
= 2,420
= 726
Al 1,694
03 2IZ+RAETAIE I 4,840 0 4,840
OE3J12t Bl ds7Al2cl 4,840
= 2,420
= 726
Al 1,694
HASHI(GP) MBEX EXIXIEA 81,900 0 81,900
= 45,500
= 10,920
Al 25,480
402 QI”F X201 & 81,900 0 81,900
= 45,500
[ 10,920
Al 25,480
02 QI X2 AL EE (01X THE) 81,900 0 81,900
OJtAgg8n NBEX X2 A 81,900
= 45,500
== 10,920
Al 25,480
AHToH =0 49,982 0 49,982
Jl 44,983
s 2,49




2A:

X XH -
o=

el EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,500
301 EtE NS 49,982 49,982
Il 44,983
= 2,49
Al 2,500
14 DBt 2 a=S 49,982 49,982
OAs U H=0 49,982
CeydEsd 41,982
Il 37,783
= 2,099
Al 2,100
230 8,000
Il 7,200
= 400
Al 400
HIIXS K FOHKIR (2 (58) 2,163,200 2,163,200
= 980,200
= 354,900
Al 828,100
402 2I2F X201 & 2,163,200 2,163,200
= 980,200
< 354,900
Al 828,100
02 QI X2 AL EE (01X THE) 2,163,200 2,163,200
OHII=8X <200 X2
12,800,0002 %169 2,163,200
= 980,200
[ 354,900
Al 828,100
IS FOHXIA(212H)(3H2) 2,700,000 2,700,000
= 1,650,000
[ 315,000
Al 735,000
402 QI2F X201 & 2,700,000 2,700,000
= 1,650,000
s 315,000
Al 735,000
02 I EASEZ(0IETHR) 2,700,000 2,700,000
OXIISHEX <200 X2
18,000,000 *150CH 2,700,000
= 1,650,000
=S 315,000
Al 735,000




M 23
Hu: J|sEsige 22
el 3 Ul 2l EER=E)
SA - B BRA(SH) - HRA - of v e HIDE2
SEEEE FHAIP AN AL 40,000 0 40,000
= 12,000
Al 28,000
307 el2to| & 40,000 0 40,000
= 12,000
Al 28,000
02 QIZtEHAEE X 40,000 0 40,000
OSZEEE FHAIT AMEME ALY
2,000,000 +20IH 2 40,000
== 12,000
Al 28,000
XNot&EIIXt SHAE X&0IA XI2AA 12,000 0 12,000
= 2,400
Al 9,600
402 QI2F X201 & 12,000 0 12,000
= 2,400
Al 9,600
02 QI XHZ AL E R (01X THE) 12,000 0 12,000
OXIot &IIAH SHAIE Xo01d XIS
3,000,000 *4CH 12,000
== 2,400
Al 9,600
HEHS AL 4,326,285 2,003,000 2,323,285
= 1,253,000
== 1,446,800
Al 1,626,485
HEfH S HE EIXIA 16,000 16,000 0
= 8,000
= 4,800
Al 3,200
101 21A4H| 4,000 4,000 0
= 2,000
= 1,200
Al 800
MU IRNZZENSE 4,000 4,000 0
OdEfHwetd= EX 12| 4,000
= 2,000
= 1,200
Al 800
201 fer23| 12,000 12,000 0
= 6,000
= 3,600
Al 2,400




2t
JI=HIUES 2el
HEH=3 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 12,000 12,000 0
OdEHAnME X 23 7 &
N, 12,000
= 6,000
< 3,600
Al 2,400
Ef s MMt 2 XHROH 2 (M & ALY) 856,000 850,000 6,000
= 642,000
Al 214,000
101 @12A4H| 12,200 15,000 /2,800
= 9,180
Al 3,050
04 JIZtN2 2N S 2+ 12,200 15,000 22,800
Ode2a2X 2 & 22| 22 10,000
== 7,500
Al 2,500
OMEH2tZ X (I 20HLIX ) TI=b| 1,000
= 750
Al 250
OdclZ & A LI=H] 1,200
=S 900
Al 300
201 223 35,800 10,000 25,800
< 26,850
Al 8,950
01 At2teltl 25,800 10,000 15,800
OdeH22X gdat 82 & 83+ 20,000
= 15,000
Al 5,000
OdE 22X =83H| 2,000
=S 1,500
Al 500
Oxecld 233 3,800
< 2,850
Al 950
2 s5=34l 10,000 0 10,000
OdEf2& X =Xl2cll 10,000
= 7,500
Al 2,500
301 Eet2 NS 8,000 0 8,000
== 6.000
Al 2,000
14 JIEt2 8= 8,000 0 8,000




M 23
M J|IRHIUES 2c
el MEHSRAIY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Odt2ZX 2g2sHl N3 4,000
= 3,000
Al 1,000
OdclZ 2ggstl N3 4,000
=S 3,000
Al 1,000
401 AIEHIZ R 0HYI 800,000 800,000 0
< 600,000
Al 200,000
01 Al&H| 800,000 800,000 0
OEd BTt dEj2a BE XY 800,000
= 600,000
Al 200,000
CAYEE SEAY 1,714,285 1,057,000 657,285
= 1,200,000
Al 514,285
401 AIEHIZ SR 0HYI 1,714,285 1,057,000 657,285
= 1,200,000
Al 514,285
01 Al&H| 1,708,200 1,067,000 651,200
OEd SuI~ZXE TAIMHE SHA
& 1,708,200
= 1,195,740
Al 512,460
03 AIZ S THYI 6,085 0 6,085
O nSH~ZXE TAIMEHS SN 6,085
= 4,260
Al 1,825
HEN oA S AL 50,000 50,000 0
207 ARl 50,000 50,000
01 H2ESHI 50,000 50,000
OF&d dHiold SAAE Al= ZLHE
9 50,000
HENEE 022 adcE gAY 600,000 0 600,000
= 300,000
Al 300,000
401 Al HIZ S OHYI 600,000 0 600,000
s 300,000
Al 300,000
01 Al&HI 600,000 0 600,000
OdEHed 28 &ddel2 &4 600,000
[ 300,000
Al 300,000

_11_




M 23
M J|IRHIUES 2c
el MEHSRAIY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
MESE gAY 1,000,000 0 1,000,000
= 500,000
Al 500,000
401 AlZHIZ S 0HbI 1,000,000 0 1,000,000
= 500,000
Al 500,000
01 A28l 1,000,000 0 1,000,000
OTIMESH T HAI 1,000,000
s 500,000
Al 500,000
M2 X8 & |4 90,000 0 90,000
= 45,000
Al 45,000
307 elztol & 90,000 0 90,000
= 45,000
Al 45,000
02 2IZHBYAIHE £ 90,000 0 90,000
O=JtdEf 23X SEAIY 90,000
= 45,000
Al 45,000
BHEZ A 2t 33,130 33,130 0
SH3F 2 33,130 33,130 0
201 2= 24,700 24,700 0
01 AtR2t2lt] 24,700 24,700 0
OZ2d SHIH ETaAM =2
700,000 x65 4,200
Obl== & IHtHEAIE ZAI S22
500,00024* 149K 2 7,000
OO0l gs32t M SE8++8
500,000 * 107 A 5,000
Otisga = Il=
180,000& %10 1,800
OOtAZAIEE PAHS BAl===
3,350,000 23] 6,700
202 04| 3,800 3,800
01 2K 3,800 3,800
O8dilz: g2 ol 3,800
206 M=Hl 4,130 4,130
01 MHZH| 4,130 4,130
OtiEg4 # ot HAE Fai+8 7
& 100,000+ 12 A 100
Ox22E YMES(ERNE S) 7Y 4,030
S2=(12m 150, 0003 5 750
SsHelm(18e) 40,0007 280

_12_




SN &2
M J|RHIUES 2c
Rl HiEgAa 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
REXE 50,0003 *102} A 500
C QYA 500,000 *5H 2,500
301 EetE2 NS 500 500
14 0Bt 2a3 500 500
OstZegde & X5
100,000& *521 500
SS3EA 29 2l 80,300 147,480 A\67,180
SS3EA 22 80,300 147,480 A\67,180
202 04l 3,800 3,800 0
01 2LHoIH 3,800 3,800 0
OHIISAHE SRS 04l 3,800
206 M2l 61,500 58,680 2,820
01 b 61,500 58,680 2,820
OBEaFA YEH 72
15,0003 *710H A% 128 12,780
OZZ3BA ASUE 7Y
10,0003 11694 2% 123 13,920
O35 ¥ HLsiaa HAASE(SEX, HiF
S) 72 70,000%4+11674 2 +43] 3,480
O2ZBZA 2BBB(SHFNZ0), U2
o 8) 7¢ 20,0003 * 11690 2 2,320
401 AIEHIZ R OHYI 15,000 85,000 70,000
01 Al&HI 15,000 85,000 A70,000
OBZE L 20/31E4 A& L
1,000,000 %1500 2 15,000
Jl=dzt tisad 554,500 726,920 A172,420
= 150,000
7l 104,500
= 39,800
Al 260,200
EAHQIEN 199,000 170,000 29,000
Il 99,500
= 39,800
Al 59,700
301 LEtE N = 199,000 170,000 29,000
) 99,500
& 39,800
Al 59,700
14 IIEt2 83 199,000 170,000 29,000
OBAHQIERN QHEIZE Xs 199,000
Jl 99,500
[ 39,800
Al 59,700
ASIH BHAEOIER 10,000 8,920 1,080




SN &2
M J|IRHIUES 2c
el JI=Hs Hsdd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 5,000
Al 5,000
301 EtE NS 10,000 8,920 1,080
Jl 5,000
Al 5,000
14 DBt 2 a=S 10,000 8,920 1,080
OXSA BAEQIEN IHEIE XIZ 10,000
) 5,000
Al 5,000
BASE d=ad 40,000 24,000 16,000
201 et 3| 27,000 9,000 18,000
01 Al 22IH| 7,000 9,000 2,000
OBAZY A7 B2 23 HH
1,000,000& *32 3,000
OBAZY S3NE DS
500,000 x22| x4 4,000
03 A= I 20,000 0 20,000
OASEAdEAE 2el AL =X 20,000
301 22N = 13,000 15,000 /2,000
14 JIEt2 8= 13,000 15,000 22,000
OBASE MEHZX 23H]
100,000 x10& « 10 10,000
OASE &322 HHQ MEE
300,000& *100H& 3,000
JISd8e HAAS NS KA 305,500 400,000 A94,500
= 150,000
Al 155,500
201 et 3| 5,500 5,500
02 s3=gHl 5,500 5,500
O&Il - == AR 200,000 504 & 1,000
O2gEIHW A2F(-Z S) wil
150,000& = 307H 4,500
401 AlZHIZ 2018 300,000 400,000 100,000
= 150,000
Al 150,000
01 AlZ8| 300,000 400,000 100,000
OADIEEH 2 &EXI(2HA) 300,000
= 150,000
Al 150,000
Hol=2el 45,800 17,820 27,980
YRHIIZ XMel 10,500 10,500 0
201 er23| 10,500 10,500 0
01 At2tltl 10,500 10,500 0




SN &2
M J|IRHSUES 2c
Cel: HIlS2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O3 (HAH, HR, 4H S) Melx==
=3 10,000
OHJI=SH B3 H iyl
5002 «10001 =102 500
IE2 =2 35,300 3,800 31,500
201 2= 33,500 2,000 31,500
01 At22t2lt] 2,000 2,000 0
OI=2HEAE SZHE 2t
5002 10001 * 102 500
O%F 28 HAteg 50,0002 302 1,500
2 55234l 31,500 0 31,500
O24A12t RRAAF=HI| 223 WA
3,000,000 10 30,000
O24A12t RRAIAFHZHT| B
150,000& 1021 1,500
206 M=l 1,800 1,800
01 MZH| 1,800 1,800
o ZEH Y 300,000 *6KHI E 1,800
Clean 82 =4 5,085,754 4,708,519 347,235
= 130,542
= 156,247
Al 4,768,965
oy 2,041,918 2,132,471 /90,553
= 82,542
= 28,066
Al 1,931,310
Hadigac 1,877,549 1,980,013 A102,464
201 er23| 922,184 838,908 83,276
01 AtR2te|HI 142,380 152,780 10,400
O+ 5,000
OMYIIZE B 2o
120,000« 12& 1,440
OIS SI| sAetE &X
250,000 #3094 A 7,500
O=2HIE 0|88 1,500,000 23] 3,000
O=xoX)= 28822 =E
70,0002 x6H *23] 840
OHgZsS 2¢ttl 20@%150,0007H 3,000
O2cItiE 2= N&
20023 15,0005 3,000
OHleletE fAS Xl 8,000
OUEHDIZ 2Hte tHEM & AIEE
275,000 1204 & 3,300
Ot e =28 500,000 1294 & 6,000

_15_




25: sF
d3: Clean & =4
el HAME B (cHol: 22)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
SEEEERIEEED
4002 x 1202 x200Y 9,600
Omel= o NSE DY (WX, BABL
&) 900,000 x93H 83,700
Ot ze|d HE AEHA A
40,000& *50H *23| 4,000
Ot ze|d s A HH A &S|
400,000 x2H #23| 1,600
OB B BESL
200,000& 3 23| 1,200
OsAB2AA ME L=4Y
100, 000& *6H *x23] 1,200
02 S32ZH| 777,804 684,128 93,676
Oxg f24| 9,500, 000& =44CH 418,000
OXre =&t 150,000
OXEs = 1,500, 000& *44CH 66,000
OB Al 2,000,000 *13CH 26,000
OAIE &H| S XIHI(CCTV)
300,000 *110CH 33,000
O2YED| &= CCTV &2
7,000& 19101121 & 16,044
O=YED| &= OV dEasd 22
30,0002 x191CH* 120 & 68,760
03 A2 S| 2,000 2,000 0
Ot 2e|e HSEAF X 2,000
202 04| 30,900 31,000 A100
01 =ZLHM Y| 30,900 31,000 A100
OFAHME HRFE b 23,100
OHAMA HXX| ASOH|(EtF22IH)
100,000& x78H 7,800
206 ME4| 258,265 243,945 14,320
01 HZHI 258,265 243,945 14,320
OBH0IFY HAZT 7Y
5,000,000& 43| 20,000
oM AESE 7
85& *2,000,0000H 170,000
OFUAHFE=X MYD| 2& X2
852 *100H*2,500H 2,125
Ox=2Xx 24Xz2 M| 25 2
853 *4, 000 3201 10,880
OL-HEAXE ADE RA(AOIES)
130,000 *7H = 12& «2CH 21,840
OL-HEAXE B4 P (HICIS)
260,000 x2Hx 128 =2CH 12,480
OMYDIEHNESE tis22s 2
297,000 2004 5,940
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2A:

M Clean & =4
=Hel Fadyae (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSENSE s dx8 =18
300,000 *50H 15,000
303 Zal= 1,500 1,500
01 o= 1,500 1,500
ORYg atgaeld 2a=s
100,000& %15 1,500
308 AHXIHMSO0IA 317,700 389,183 AT1,483
07 X2 EE2 317,700 389,183 AT1,483
OHJIEsx2fes
15&%20,000,000kg*1.059 317,700
401 AlEHIZ 2018 120,000 290,000 A170,000
01 Al&H| 120,000 290,000 A170,000
OMDIZESI 258 CTV €1
3,500, 0002 *30CH 105,000
OF2F Aol &t 15,000
s 15,000
-=aS MDDl S-S CCTV €X 15,000
405 KHoHF S| 227,000 125,000 102,000
01 ML ESFSHI 227,000 125,000 102,000
OsAlSsHXZE UM 2
135,000,000 = 1CH 135,000
OMEE=AXE M &
92,000,000 = 1CH 92,000
M0l SEM MLAXNS +=H{HIE K& 6,000 6,000 0
201 er23| 6,000 6,000
01 At2teltl 6,000 6,000
OXgD| SEH MeAXS Melvl8 X *
423 728 1,500,000 «4J40tS 6,000
ot RFMI] =HAY 92,000 104,286 N12,286
= 63,000
Al 29,000
101 e124d| 89,000 101,330 212,330
= 60,900
Al 28,100
M ORNZZ2NSE S 89,000 101,330 A12,330
OotE M| kAt 12| 89,000
= 60,900
Al 28,100
201 fer23y| 1,000 956 4
= 700
Al 300
01 AtR2te|H] 1,000 956 44
O&Aztd 2E7Y(HIR, &3, 13 3) 1,000
= 700




2A:

X XH -
o=

29: (Erel: a2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

Al 300

202 04| 2,000 2,000 0
= 1,400
Al 600

01 =LHO LI 2,000 2,000 0
Osta Mg datated 01 2,000
= 1,400
Al 600

S8 ot 0l detAtg XIE 35,892 35,892 0
= 17,946
Al 17,946

308 AtXIEMSOIE 35,892 36,892 0
=S 17,946
Al 17,946

07 AX 2L FE= 35,892 36,892 0
Od&Z ot At 35,892
[ 17,946
Al 17,946

HeEs =82 aHdEs N 1,164 1,280 2116
= 349
Al 815

201 er23| 1,164 1,280 A116
= 349
Al 815

01 AtR2te|HI 1,164 1,280 A116
oMzgss =& HNs3 XN 1,164
== 349
Al 815

ol HJI= 2c 29,313 0 29,313
= 19,542
s 9.7

401 AlZHIZ SO 29,313 0 29,313
= 19,542
& 9,771

01 AlZH| 29,313 0 29,313
OULHIiE Y HE= OlsH2 52 29,313
= 19,542
= 9,77

HOlE HE 965,816 1,497,383 A\531,567
= 48,000
S 128, 181
Al 789,635

Hees2els=H/Aces 83,301 82,538 763




M 23
M Clean & =4
=?el mols 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 59,301 82,538 N23,237
01 MHZH| 59,301 82,538 N23,237
ongss =M st 7
15,0002 »7000H 10,500
ONEEE 43 12
6,300 1,0000H 6,300
OHAEX WEAtS MYIIsSF
85% *50,0000H 4,250
OB0/H WAt &K
5002 10,0000H 5,000
OHAHAX =HE 50,0002 = 157K 750
OHEZS =AHE(HES)
24,0002 +25H 600
OoNgE=cls=AHg 233,800& 20K 4,676
OO0 A WBALY SEHSE 78
853 %5,000& 425
OsoElgd® =g 7L
400,000 40K 2= 16,000
OzR+=0g 7 10,500,000 10,500
Oz Eouat 300
=ys 300
—AY HHS2 X022l HU £
300,000 300
301 LELEN S 24,000 24,000
14 JIEt2 =3 24,000 24,000
ZclifE 2==0l= AHEE XIS 24,000
sZEMHHIY =HE43 XF 180,000 180,000 0
= 36,000
< 18,000
Al 126,000
301 EtE NS 180,000 180,000 0
= 36,000
== 18,000
Al 126,000
14 JIEt2 8= 180,000 180,000 0
OsZEHHd =HEd=
1002+ 1,800, 000kg 180,000
= 36,000
== 18,000
Al 126,000
SSHotY =5 KNEAMY X 40,000 30,000 10,000
= 12,000
Al 28,000
401 Al HIZ 2018 40,000 30,000 10,000
= 12,000




2A:

B
Celr HIIE 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 28,000
01 Al&H| 40,000 30,000 10,000
OBSHGIE &5 X
5,000,000 +8IH 2= 40,000
= 12,000
Al 28,000
HeE SUlbtE EXIAY 105,000 430,000 A325,000
401 Al HIZL 01| 105,000 430,000 A325,000
01 Al&H| 105,000 430,000 A325,000
OMEE sUIDtg CCTV S XA (XHAI)
3,750,000 *200H 2 75,000
O=2F 0ol &t 30,000
- &S 15,000
-EE0tS e suotd £X 15,000
SES 15,000
-SES 45 MEE SUI0tg &% 15,000
SUEIE A2 =HEAH NZA 9,937 10,875 A938
== 2,981
Al 6,956
301 2= 9,937 10,875 A938
[ 2,981
Al 6,956
14 JIEt2 8= 9,937 10,875 A938
OHs%EIIF +=HLl A& 9,937
= 2,981
Al 6,956
He2s 2el=H ugEs 7Y 22,000 32,000 10,000
= 13,600
Al 8,400
206 M=H| 22,000 32,000 10,000
== 13,600
Al 8,400
01 MHZHI 22,000 32,000 10,000
ONEgss 2l ua=ss 7 12,000
< 3,600
Al 8,400
OMEES 2el=) nesg Y (8sE
oF QldIElE) 10,000
= 10,000
Mg =0t HolE XMl K& 52,000 64,000 A12,000
= 15,600
Al 36,400
201 eer23y| 52,000 64,000 A12,000




A 3
M Clean & =4
Celr HIIE 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 15,600
Al 36,400
01 At2tltl 52,000 64,000 A12,000
OEsHN =H & &8l XA 52,000
= 15,600
Al 36,400
MEHDIE HE BHEAE 4X X 300,000 240,000 60,000
=S 60,000
Al 240,000
401 AIEHIZ SR THYI 300,000 240,000 60,000
< 60,000
Al 240,000
01 Al&H| 300,000 240,000 60,000
OdEHDI=Z AE HHEAE £X 300,000
= 60,000
Al 240,000
18183 = Hel ZEAY 4,025 11,200 AT 75
201 er23y| 3,025 6,000 A2,975
01 AtR2t2|HI 3,025 6,000 A2,975
O12Z2SAZE017| 222 M
550 +5,500% 3,025
206 M=l 1,000 1,000
01 MHZHI 1,000 1,000
otizlgd MHE= NH
100,000& *109H 2 1,000
Al NE=HMA 2= 109,553 116,770 NT,217
101 @124H| 76,347 87,770 A11,423
MU IIRINZZENSES 76,347 87,770 A11,423
OAtE =2t X120l 76,347
Jl2s 78,8803 x3H 225 53,244
- ReERYsE 78,8803 x38 49! 11,59%
AHEE 64,840,000 *11.5% 7,457
sS4l 86,0003 x225+3% 4,050
201 er23y| 33,206 29,000 4,206
01 AtR2t2|HI 29,606 25,400 4,206
OMaEdH HABAL & SF2IAEHEH(2
) U= 1,800,000 129 & 21,600
OM2EHH HEBAL & SF2IAEHE(2
h4) 2eldl 84,0002 *129HE 1,008
OMeEdH HEANL (L) 282 QA8
== 7Y 1,000
OXH=&XZ0l 2 =25 NS (HG=XN,
OtA3, HASSE S) 1,000

_21_




2A:

B
Celr HIIE 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONEEEH HEAL 2 3d =
41,2503 x200 A+ 1204 2 990
OMESEH HEBAIE R3]
77,0002 <200 A% 1201 2 1,848
OM2SHHANEANE & S322JEH(2
Ha) elE 2,160
== 50,000 x20H A+ 1204 = 1,200
S188I 40,0002 %200 A+ 1200 2 960
02 S3=gHl 3,600 3,600 0
OMESEHH HEAEL(2HA) 22
150,000& * 1200 2 20H 2 3,600
SHHEY 120t HEEsd X 60,000 0 60,000
& 18,000
Al 42,000
401 Al HIZL 201 60,000 0 60,000
= 18,000
Al 42,000
01 AlZH| 60,000 0 60,000
SEHEY Rolg )| &Xl 60,000
= 18,000
Al 42,000
SHESR HOI=2 2l 3,050 5,100 2,050
SHEF HoIS2c 3,050 5,100 A2,050
201 2= 3,050 5,100 2,050
01 AtR2t2lt] 3,050 5,100 22,050
OsAZHYI| BES HA
2002 *10,00001*12] 2,000
OLPOtA(HEE 842 +I1S dis8)
35,0002 *30S 1,050
HIIZ MelAd 2 22 2,044,970 1,073,565 971,405
SEMEE JlHst dEANE 2g 650,082 571,874 78,208
101 ©1AH| 567,782 503,174 64,608
04 JIZtN2Z2XNSE+ 567,782 503,174 64,608
oNgsdg 22y 561,182
== 382,137
] 13,980
raEsdsY 107,185
A= 57,880
OoXgs & XHSS 22| 5,400
A= (SHII, otEI) 1,800
A S (N, &2, A0 S) 3,600
OR4XI=Hl 1,200
201 et 3| 49,900 49,800 100
01 At22t2l] 7,900 7,800 100




2A:

2HD

i)

M Clean & =4
2ol HYIE MelAE 29 22 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Odit=3=H| 3,000
OHEAE &)tz = 2,400
OHEAIE R013HI 1,200
OLHH M E A0 28t HPSA=EH| 1,300
02 S5=24g4l 42,000 42,000 0
OHEBAIE 4. ot+Eg 12,000
OAIZ &l || 30,000
206 MH=H| 32,400 18,900 13,500
01 M=4l 32,400 18,900 13,500
ongss s d3d 7Y 12,000
O=cl=210tt =& 18,000
OZ2ER(BF &) 228X 2,400
e 24 1,389,888 452,691 937,197
101 @124H| 152,808 139,280 13,528
MU IIRINZENSES 152,808 139,280 13,528
OUAHIIE Y FUZAIR Y 68,128
Jl2s 86,3002 x2H 2462 42,460
gaaesy
16, 1803 »4A| 2hx2EH 52 6.731
- mrEsdrd 86,3003 x2& »69! 11,910
AUEE = 61,101,000 %11.5% 7,027
OUMIHEE UEHDIZE 2R 60,623
Es 86,3002 x2H 2462 42,460
-ErEsdsd 86,3003 x2& *692 11,910
A== 54,370,000& *11.5% 6,253
OUAHIiEd &9 & M=x FY 24,057
JlEs 86,3003 x2H 100! 17,260
-mrEndsd 86,3003 x2& 252 4,315
AHEE= 21,575,000 *11.5% 2,482
201 er2 3| 278,073 169,404 108,669
01 AtR2telHl 176,313 73,644 102,669
O &S ZBAI(THA)
341,800 x 12 4,102
OFEs +ZBAHI(FY, 23,20, L)
341,800 44 2 x4 3] 5,469
OXlH= =2 A 6,000,000 2] 12,000
OZBALE Ui M= =Z B At
3,125,500 43 12,502
OAEEZz HEE ||
600,000 22 1,200
OAIZBER UEE ZAHI(+E &)
10,000, 0003 *44 A *13] 40,000
OAIZBEE UEH SIRBAHCTI0ISA)
10,800,000 #40H 2= 43,200
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2A: A
Az Clean &€& &4

ol HDIZ MRIAE 22 B2 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAIBER UEH 2ARTAHOIY)
5,000,000 *47H 2= 20,000
OANrBEE B E ARZAHXIBIHEE)
1,000,000 x4 7H A 4,000
OArZ2EZ UHEE 2ARZAHEIIZA}
20,000,000 *14{ 20,000
Ollg&=g Ryl 10,000
Oodygta | a2
200,000&* 12042 2,400
OUAIEE Fo13d| 120,000& 122 1,440
02 S52g4l 101,760 95,760 6.000
Oollgld &oIes 3,000,000~ 12912 36,000
Ollgld B+ otk HAXC AIER
1,4902%2,000=* 1200 & 35,760
Olfg&ael AId&HI= X 30,000
206 M=l 34,007 34,007
01 M= HI 34,007 34,007
OURE woiorE gl
40,0003 %2708 10,800
ONYE ATH(BT S) ALK 7
800,000 42| 3,200
Olgd dgz =M 7Y
13,0002 %1,539m’ 20,007
401 A2 HIRL 01 925,000 110,000 815,000
01 Al&HI 919,555 109,460 810,095
OUEZE 237 It==Ald XA
550,000,000 *99.37% 546,535
OF LI NSHIAE ZXIA
200,000,000 *99. 28% 198,560
O=dlt= XA 60,000,000 99. 1% 59,460
OUAIIEE =8 =H2A
10,000,000 *52! 50,000
OWMAIHEE IA XA (FRIF 01 AF)
40,000,000& 40,000
OUMMHEE HAZEE AXIAY 25,000
03 AlESTHYI 5,445 540 4,905
OUEE 287 Xt=AlE XA
550,000, 000& *0.63% 3,465
OF LI NSHIAE ERIAE
200,000, 0002 *0.72% 1,440
O =02 XIFALY
60,000, 0002 *0. % 540
HOISMeIAE S#S(A2AE) 5,000 10,000 /5,000
201 =3 5,000 0 5,000
01 At22t2l] 5,000 0 5,000
Oget=ZH| 5,000,000 *14 5,000
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SN &2
M dHAZES
el Ordd= et (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEWHES 426,300 334,540 91,760
= 82,150
= 29,545
Al 314,605
Opieii=s it 426,300 334,540 91,760
= 82,150
< 29,545
Al 314,605
OrHS= IIoHOII 2 AL 72,000 42,540 29,460
= 36,000
== 12,000
Al 24,000
402 2I2E X201 & 72,000 42,540 29,460
= 36,000
S 12,000
Al 24,000
02 RIENSASEZ(0IETHR) 72,000 42,540 29,460
OO =S TIoH Ol AL 72,000
= 36,000
= 12,000
Al 24,000
OrisS= 106,000 106,000 0
201 fer=3| 6,000 6,000
01 AtR2te|HI 6,000 6,000
Od=D EIXIM 7 10,0002 *100H 1,000
OttdsE x8s 85 7Y
500,000& *104] 5,000
301 EtE N = 100,000 100,000
14 JIEt 2 a3 100,000 100,000
ORMNOEESE ZaZBaz (Rt Es o
TIGHXIE) 1,6960+21%50,000& 84,800
OOMEE P 2t
152,000 »10024 15,200
OrS=TIoHZ & A 40,000 47,000 A7,000
= 4,000
Al 36,000
301 EtE N = 40,000 47,000 A7,000
= 4,000
Al 36,000
4Bt 23 40,000 47,000 A7,000
O0tds= s&= Ulai2d= 40,000
=S 4,000
Al 36,000
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SN &2
M dHAZES
el Ordd= et (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
25 IS SEE3 =4 44,000 44,000 0
= 22,000
Al 22,000
101 @12A4H| 10,000 10,000 0
= 5,000
Al 5,000
04 JIZtNZ22 XS 2+ 10,000 10,000 0
O=d=F+H 10,000
= 5,000
Al 5,000
201 2egh=3| 10,000 10,000 0
= 5,000
Al 5,000
01 At2teltl 10,000 10,000 0
OAg=d 258 7Y 10,000
= 5,000
Al 5,000
401 Al HIZ S OHbI 24,000 24,000 0
= 12,000
Al 12,000
01 Al&HI 24,000 24,000 0
ES?JIdE TIHHZAIE £X 24,000
= 12,000
Al 12,000
OtZe|ItHAIE Y SUEHXI ALMIX el 95,000 95,000
201 Ler23| 5,000 5,000
01 At2teltl 5,000 5,000
OAtMXel 8 7 5,000
301 eEetE2 N = 90,000 90,000
4Bt 2as 90,000 90,000
OAHAI0I5HI 50,000& »9000+2| 45,000
OEHAIZHI 50,000& *9000+2| 45,000
ol OrMES= JIIIAM XA 21,000 0 21,000
= 6,300
Al 14,700
307 elztol & 21,000 0 21,000
= 6,300
Al 14,700
02 2B YAIHE A 21,000 0 21,000
Ol OtMsE DI KIJA
35,0003 *1, 0003 +6(0% 21,000
== 6,300
Al 14,700




SN &2
M dHAZES
el Ordd= et (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ANZF 2 HAKM Xeldl 48,300 0 48,300
= 24,150
== 7,245
Al 16,905
301 2eEN= 48,300 0 48,300
= 24,150
=S 7,245
Al 16,905
14 0Bt 2as 48,300 0 48,300
OAMZHF & HAM Xeldl 48,300
= 24,150
= 7,245
Al 16,905
Alot=2te| 112,300 95,300 17,000
XS Kot ASAE(E2=Y) £X 112,300 95,300 17,000
XIHXIGte AL (Ex2ZY)ER 112,300 95,300 17,000
201 er23| 25,500 16,200 9,300
2 5234l 25,500 16,200 9,300
OXIgts 2SAM(2X25Y) |FAE>
500,000 510K 2 25,500
401 Al HIZ S OHbI 86,800 79,100 7,700
01 A28l 86,800 79,100 7,700
OXlot AFSAE(E2AFL)EX 25H
Bl 2 QKB PR U &
12,400,000 7K 2= 86,800
HY2HAHI(&Z ) 5,729,723 4,952,413 777,310
ol (&2 1) 5,704,583 4,927,273 777,310
olH2IH|(Z2 ) 5,704,583 4,927,273 777,310
101 @124H| 4,710,685 4,876,774 166,089
03 SRA(RIH )22 U2+ 4,710,685 4,876,774 166,089
Ogrz 2l (78%, 164018 4,705,685
lEs 2,551,740 +78F«12& 2,388,429
g2+ 2,551,740 «78F »50%*22] 199,036
da=gikts 110,000 +78F « 122 102,960
=G (HI2A)
40,0002 «70H 122 33,600
- IE=Z(OIE) 20,0002 x10& 128 2,400
- IESE(2XHH) 60,0002 x50« 12& 36,000
= {(OED 100,000 x17E«12& 20,400
CARE 125,000 ~78E+12& 117,000
g k=S 100,000 x78E « 122 93,600
- HASAH| 170,000 x78E «12& 159,120
- HESIH 2,551,740 22| + 78 *6(f% 238,843
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SN &2
M #ZYRAZH(2F N
gl olH2AH|(2d ) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EEEEET
15,4903 %1.5x78H*13A12++ 123 282,888
]
123,992 * 1. 5«78 H 52+ 12 870,424
Axt=masiteg
123,992 x78E « 10! 96,714
R = 100,000 x 1 * 122 1,200
gd+< 70,0002 *4 & 12 3,360
dtds 2,551, 7402 30+ 78 59,711
Ogzae|d X=Hl X (Z0Ig £4)
100,000 +50& 5,000
04 HSRESS 993,898 50,499 943,399
04 BRA(RIHA)22N BEESRES S 993,898 50,499 943,399
O4ti=Ee 4,787,053,000&+0.917% 43,898
ozl gx=s 250,000,000 +3& 750,000
Oosgdacld a2 gas ot
100,000,000 2 200,000
JlE2Zdsl(8d ) 25,140 25,140 0
JlEZu(&3 ) 25,140 25,140 0
201 er23| 15,000 15,000 0
01 At2t2ltl 15,000 15,000 0
O=gHl 15,000
203 HR=AH] 10,140 10,140 0
MU A2 LRFEI 10,140 10,140 0
ORANEgg =AY 10,140
Hegs(Ezdn) 409,214 405,340 3,874
WA= 409,214 405,340 3,874
sdE=s 409,214 405,340 3,874
@R I1sdES 409,214 405,340 3,874
01 JIsdES 409,214 405,340 3,874
OHPISHMelAlE FeX&IIS(MYIISE
S THtHS) 1,358,670,260& *10% 135,868
OSASHIISH2IAE FRAXEINIS(S4
S& TUU3) 233,458,000 *10% 23,346
OHPISXMelAIE FeUX2INS(HES) 250,000
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